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Brrunranue (o ropu3oHTaIm)

Nwms:

Pemure kaxayr 3axauy.

) 816 - 49 =

2) 5 557 - 849 =

3)

893 - 222

49 588 - 340 =

5 8 112 - 7 521 =

6) 585 - 14 =

D 621 -1 =

8 30 - 15 =

9)

10)

11)

12)

4 527 -

4 427 -

67 - 59

9 233 -

45

OTBeThI

10.

11.

12.
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ﬂh Brrunranue (o ropu3oHTaIm) Nwmsi:

Kiwu k IpaBUJIBHBIM OTBETaM

Pemure kaxayr 3axauy.

) 816 - 49 = 767

2) 5 557 - 849 = 4 708

3) 893 - 222 = 671

49 588 - 340 = 248

5 8 112 - 7 521 = 591
6) 585 - 14 = 571

D 621 -1 = 620

8 30 - 15 = 15

9 4 527 - 9 = 4 518

10) 4 427 - 1 348 = 3 079

1) 67 - 59 = 8

12) 9 233 - 45

9 188

OTBeTHL

L 767
2. 4708
3. 671
. 248
5. 591
6. 571
7. 620
8. 15
9. 4 518
0. 3079
11. 8
12. 9188
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Brrunranue (o ropu3oHTaIm)

Nwms:

Pemure kaxayr 3axauy.

OTBeThI

{

591
620

4 708 571 4518
15 671 3079

248
767 1.

1)

2)

3)

4)

S)

6)

7)

8)

9)

10)

816 - 49

5 557 -

893 - 22

588 - 34

8 112 -

585 - 14

621 - 1

30 - 15

4 527 -

4 427 -

849 =

2 =

0 =

7 521 =

10.

www.CommonCoreSheets.ru

E\/IaTeMaTI/IKa O0JieryeHHbIM BAPUAHT 1
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